
−13 3
4 +22 2

5 −27 3
8 +5 3

5

8 13
20 −4 39

40 −2131
40

3 27
40 −26 3

4

−23 3
40

−13 3
4( ) + +22 2

5( ) = + 22 2
5 −13 3

4( ) = 22 8
20 −13 15

20 = 2128
20 −13 15

20 = 813
20

+22 2
5( ) + −27 3

8( ) = − 27 3
8 − 22 2

5( ) = − 27 15
40 − 22 16

40( ) = − 26 55
40 − 22 16

40( ) = −4 39
40

−27 3
8( ) + +53

5( ) = − 27 3
8 − 5 3

5( ) = − 27 15
40 − 5 24

40( ) = − 26 55
40 − 5 24

40( ) = −2131
40

+813
20( ) + −4 39

40( ) = + 8 13
20 − 4 39

40( ) = 8 26
40 − 4 39

40 = 7 66
40 − 4 39

40 = 3 27
40

−4 39
40( ) + −2131

40( ) = − 4 39
40 + 2131

40( ) = −25 70
40 = −26 3

4

3 27
40( ) + −26 3

4( ) = − 26 3
4 − 3 27

40( ) = − 26 30
40 − 327

40( ) = −23 3
40

+13 3
4 −22 2

5 −27 3
8 +5 3

5

36 3
20 4 39

40 −32 39
40

31 7
40 37 38

40

−6 31
40

+13 3
4( ) − −22 2

5( ) = 13 3
4 + 22 2

5 = 13 15
20 + 22 8

20 = 35 23
20 = 36 3

20

−22 2
5( ) − −27 3

8( ) = −22 2
5( ) + +27 3

8( ) = + 27 3
8 − 22 2

5( ) = 26 55
40 − 22 16

40 = 4 39
40

−27 3
8( ) − +53

5( ) = −27 3
8( ) + −5 3

5( ) = − 27 3
8 + 5 3

5( ) = − 27 15
40 + 5 24

40( ) = −32 39
40

+36 3
20( ) − +4 39

40( ) = +36 3
20( ) + −4 39

40( ) = + 36 3
20 − 4 39

40( ) = 35 46
40 − 4 39

40 = 31 7
40

+4 39
40( ) − −32 39

40( ) = +4 39
40( ) + +32 39

40( ) = +36 78
40 = 37 38

40

+31 7
40( ) − +37 38

40( ) = +31 7
40( ) + −37 38

40( ) = − 37 38
40 − 31 7

40( ) = −6 31
40

= 50 + 18 – 37 – 62 + 25 – 11 + 33 = 68 – 37 – 62 + 25 – 11 + 33
= 31 – 62 + 25 – 11 + 33 = – 31 + 25 – 11 + 33 = –6 – 11 + 33 = –17 + 33 = 16
= – 2616 + 1539 – 407 + 2066 + 1195 – 713 – 993 + 15
= – 1077 – 407 + 2066 + 1195 – 713 – 993 + 15
= – 1484 + 2066 + 1195 – 713 – 993 + 15 = 582 + 1195 – 713 – 993 + 15
= 1777 – 713 – 993 + 15 = 1064 – 993 + 15 = 71 + 15 = 86
= 17,4 – 48,2 + 65,6 + 11,5 – 23,9 – 78,4
= – 30,8 + 65,6 + 11,5 – 23,9 – 78,4 = 34,8 + 11,5 – 23,9 – 78,4
= 46,3 – 23,9 – 78,4 = 22,4 – 78,4 = – 56
= –0,53 + 6,48 + 1,07 – 19,36 + 5,22 – 4,39 + 1,51
= 5,95 + 1,07 – 19,36 + 5,22 – 4,39 + 1,51
= 7,02 – 19,36 + 5,22 – 4,39 + 1,51 = – 12,34 + 5,22 – 4,39 + 1,51
= – 7,12 – 4,39 + 1,51 = – 11,51 + 1,51 = – 10

− 1
2 + 3

5 + 1
4 + 4

15 − 3
8 = − 60

120 + 72
120 + 30

120 + 32
120 − 45

120 = −60+72+30+32−45
120 = 29

120

12 1
3 − 6 2

5 − 8 1
6 + 4 1

10 + 2 2
3 −16 5

6 − 5 3
10

= 12 10
30 + 4 3

30 + 2 20
30 − 6 12

30 − 8 5
30 −16 25

30 − 5 9
30 = 18 33

30 − 35 51
30 = −17 18

30 = −17 3
5

18 3
4 − 36 1

5 + 27 1
2 − −35 9

10( ) − 2 13
20 + −0,6( ) − 2,7

= 18,75 + 27,5 + 35,9 – 36,2 – 2,65 – 0,6 – 2,7 = 82,15 – 42,15 = 40


